The sample question paper which is in MCQ format for the AIIM examination for different topics are as follows:

1. The radius of curvature of a spherical surface is measured using
A. a spherometer B. spectrometer C. screw gauge D. slide callipers

2. If the dimensions of length are expressed as G x, Cy, h z, where G, C, h are universal gravitational constant, speed of light and Plank's constant respectively, then
A. x = 1/2, y = 1/2 B. x = 1/2, z = 1/2 C. y = 1/2, z = 3/2 D. y = + 3/2, z = 1/2

3. The dimensional formula of electric field strength is:
A. MLT-2 I-1 B. MLT-3A-1 C. T-2A-1 D. MLTA-2

4. A man throws a ball in air in such a way that when the ball is in its maximum height he throws another ball. If the balls are thrown after the time difference of 1 sec, then what wilt be the height attained by them
A. 19.6 m B. 9.8 m C. 4.9 m D. 2.45 m

5. If the velocity time graph of a body is a straight line sloping downwards, the body has
A. acceleration B. declaration C. zero acceleration D. constant acceleration

6. Which one of the following equations represents the motion of body with finite constant acceleration?
A. y = at
B. y = at + bt2
C. y = at + bt 2 + ct3
D. y = at + bt

7. What is the magnitude of the velocity of the body when it is projected horizontally from a point above the ground after 0.2 seconds?
A. √2 ms-1 B. 2√2 ms-1 C. 3√2 ms-1 D. 4√2 ms-1

8. A string can withstand a tension of 25 N. What is the greatest speed at which a body of mass 1 kg can be whirled in a horizontal circle using 1 m length of the string?
A. 25 ms-1 B. 5 ms-1 C. 75 ms-1 D. 10 ms-1

9. Poisson ratio is the ratio of
A. the linear strain to the lateral strain B. the lateral strain to the linear strain
C. the linear stress to the lateral stress D. the lateral stress to the linear stress

10. The maximum force of friction that comes into play is called
A. limiting friction B. kinetic friction C. static friction D. minimum friction

11. A body of mass 5 Kg is raised vertically to a height of 10 m by a force of 170 N. The final velocity of the body is
A. 15 ms-1 B. 17 ms-1 C. 20 ms-1 D. 22 ms-1

12. A cyclist moving at a speed of 17.64 km/h describes a circle of radius 9.8 m. If the cyclist is held in balance, the co-efficient of friction between the tyre and the ground is
A. 0.25 B. 0.29 C. 0.36 D. 0.35

13. Two bodies with masses m1 and m2 have equal kinectic energies. If P1 and P2 are their respective momenta, then P1 = P2 is
A. m1 : m2
B. m2 : m1
C. m12 : m22
D. √m1 : √m2

14. In elastic collision,
A. only energy is conserved B. only momentum is conserved
C. both energy and momentum is conserved D. none of these
15. The velocity of a particle whose kinetic energy is equal to the rest energy is
A. (1/2) C B. C C. √3/3 D. √3 C

16. The propeller of a ship makes 350 rev. while its speed increases from 200 rpm to 500 rpm. Then the time taken for this is
A. 1 min B. 1.2 minute C. 5.3 seconds D. 53 seconds

17. The K.E. needed to project a body from the earth's surface to infinity is
A. mgR B. 2 mgR C. 1/2 (mgR) D. 1/4 (mgR)

18. The distance of two planets from the sun are 1013 and 1012 meters respectively. The ratio of time period of these two planets is
A. √10 B. 1/√10 C. 100 D. 10√10

